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(vertical)

Vertically polarized
Light source light waves
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polarization aligned with filter

polarization angled to filter

polarization 90° to filter

all light gets through

some light gets through

no light gets through
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% _ Plane Polariscope

% Polarizer

*_ Analyzer

> Circular Polariscope
® . Quarter Wave Plate
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Birefringent Crystals Between Crossed Polarizers

Polarizer P \. s Object (Anisotropic Crystal)

AnaiyzerA /

Retardation

Sample —||— Two Components

Thickness Resulting From Figure 3
Il Birefringenco

6910 @afm D S 5l oleds o F STl
Gages jlam g 8 zoe ay amio duae 50 A5 Sl ool Glamae S Db S Ah oS D opl Caas o
VWO sliwly 1o 550U samio § oS liwly & Cod a0 FO sliwl) ;0 55 Db gambo 06,5 o L3 Liolejl 090

S 0 L8 Gl & S a3 A slinl) )0) @B sliwly 4 S 4z o

e . AL Y. . . N .
oS b aS abl 0TS jemme g A jemme 99 LIS oo &y (a0 0ebee cdalie i JSO 0 a5 sk les

5361 g b Slmho ds s a0 FO saugly syl cumBge 10 Heme 93 (ol 5l plaS e g wile o 4z, A0 Gl

555 0 ),

Axis of
polgization

Light
Source

15t quarter- (linear polarizer)

wave plate
N ye
Maodel
2nd quarter- looaton
wave plate
Analyzer

(linear polarizer) -

Circular Polariscope

Slopld CgSams M 10 JSb

- Fast Axis
8 _ Slow Axis




IR LS oo et 500 Al 4y 4ol Gl alal g0 G 5 BB 5 (ol slais b Jlesl o gaiges )
ol S0l lagy] o 25 O a5 bl sadS cwoin )5 b yo5 (ol o g (59210 oS Db 50 diges ol
LG 45 4T eggnls wosSms S 5 oalital b ooy el ol (5, godims L 45 amo e eSS |, cinb S,
Lagb s 8 1uaS o b Golojl cnl )9 pa aSLIL 4255 b g Col g 50 Lol o it Jolis lea o oo

il o diges aliSe blE o 25 (goaims Lid sad saud oSS, 5 ol e duay i 9, Jlee! bl SO o

CToo &)GM—V—Y—Y
Lely 90 0l (o g 980 o0 j9ue 395 Sl vt 1 dgee (Sliwl) 90 j0 1) 9 aS el CsSw Db (gammbo SO zgo &) (Gatbo
WS o 3l zee Job ez S soslasl 4y (g5l LS

bi-refringement slgo - ¥-¥

€5 3 orizp 5 93 jee 355 3l 1) 155 a5 (y9b 4 adly Blad b 0,5 oo 18 eVl (lejl 5 )50 45 (Glaiges

lge 4365 ol 4y il Dglaie Ce o 90 Gyl Cgllas sliwly 90 o digad 3l oaiiS jee Hi Sy b R:\.jlfso CenS

sole Gl (godims lis a8 ail oo Alls e pb 4y ool Gl Slge ol 09 e axiS birrefringement

139558 S g Dy 4 g Sen
(0p —ax)t
n

el dla (gdS e 50 N g Gl TS 2l 0p cdiin 25 01 alayl,y ol jo 4

S 0 el 5 g (oS b S )L 92) Sl (05 )l Bro BB g SasS L 4SS aS (pl 4 4z L

09“‘59 oolw 2 u)yomYL» Lnga;‘) quB Q"‘L’ g oo ua).‘i).mo);‘).: ‘)(52 I (col L.w‘)

°_ Double Refracting
19 Fringe Value




s oo ] Gilitee socKs; lp | Al 4o ) Jgos

Méh&) Sy db gad ) Jouo

Color Fringe Order

black 0

gray 0.28

white 0.45

yellow 0.6

orange 0.8

dull red 0.9

purple 1

deep blue 1.08

blue-green 1.22

green-blue 1.39

orange 1.63

red 1.82

purple 2

green 2.35

green-yellow 2.5

red 2.65

red-green 3
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11 _shoulders

12 stress raisers

13 _ stress concentration
¥ _nominal stress
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